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QUESTION 1

If a scrollable cursor is INSENSITIVE, which of the following applies?

A. The cursor is read only

B. WITH ROWSET POSITIONING is not allowed

C. The select-statement must not contain an SQL data change statement

D. The cursor has sensitivity to changes that are made to the database after the result table is materialized
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/java/src/tpc/ imjcc_tjvsjscr.html

QUESTION 2

Which of the following statements is TRUE when issuing an SQL ROLLBACK (without SAVEPOINT) statement?
A. All held LOB locators are retained

B. All locks that are implicitly acquired during the unit of recovery are retained

C. All rows and all logical work files of every created temporary table of the application process are deleted

D. All cursors are closed, all prepared statements are retained, and any cursors that are associated with the prepared
statements are invalidated

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_rollback.html

QUESTION 3

Which type of constraint is NOT enforced by DB2 during SQL processing?
A. Check

B. Referential

C. Primary key

D. Informational referential

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020149.html
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QUESTION 4

Given the following SQL statement:

GRANT DELETE ON TABLE customer TO userl;

Which of the following statements is TRUE?

A. Userl can only remove the customer table

B. Userl can only remove rows from the customer table

C. Userl can remove the customer table and grant the privilege to remove the customer table to other users

D. Userl can remove rows from the customer table and can grant the privilege to remove rows from the customer table
to other users

Correct Answer: D

QUESTION 5

Which statement about an application-period temporal table is TRUE?

A. It has SYSTEM_TIME defined

B. It has an end column defined using WITH DEFAULT NULL

C. It must have the index clause BUSINESS_TIME WITHOUT OVERLAPS

D. It has a begin column defined as TIMESTAMP(6) NOT NULL or DATE NOT NULL
Correct Answer: D

Reference: https://www.ibm.com/developerworks/data/library/techarticle/dm-1410temporal-tables-db2zos/ index.html
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